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1. The question paper comprises two parts, Part | and Part II.
2. Part | comprises Case Scenario based Multiple Choice Questions (MCQs)
3. Part Il comprises questions which require descriptive type answer
PART | - Case Scenario based MCQs (30 Marks)
Part | is compulsory.
Case Scenario |

XYZ Ltd. plans to invest ¥ 800,000 in a new unit. The project is expected to have a useful life
of 4 years, with no salvage value at the end of its life. The annual depreciation charge for the
project is ¥ 200,000.

Projected revenues and costs for the project, ignoring inflation, are provided as follows:

Year Revenues (%) Costs (%)
1 600,000 300,000
2 700,000 400,000
3 800,000 400,000
4 800,000 400,000

XYZ Ltd. is subject to a corporate tax rate of 60%, and the cost of capital for the project,
including inflation premium, is 10%.

Depreciation provides a tax benefit, and inflation rates for revenues and costs over the
project’s lifespan are as follows:

Year Revenue Inflation Cost Inflation
1 10% 12%
2 9% 10%
3 8% 9%
4 % 8%




From the information given above, choose the correct answer to the following questions:
1. The depreciation tax benefit for the project per year shall be...............

(@) 120,000

(b) ¥ 150,000

(c) 200,000

(d) 180,000

2. The inflation-adjusted revenue in Year 2 shall be................

(@) ¥ 700,000
(b) ¥ 839,300
(c) 492,800
(d) 501,760

3. The total cash inflow in Year 1 after adjusting for inflation and tax benefit on
depreciation shall be............

(@) 330,000
(b) 336,000
(c) 249,600
(d) 492,800
4. The inflation-adjusted cost in Year 2 shall be................
(@) ¥ 700,000
(b) 839,300
(c) 492,800
(d) 501,760
5. The present value of cash inflow for the year 3 shall be approximately...........
(@) 213,604
(b) 226,299
(c) 226,886
(d)y  ¥239,949 (5x2 =10 Marks)



Case Scenario Il

Suppose you are a risk manager at a financial institution, and your company has loaned a
significant amount of ¥ 500 crore to a company X Ltd. for a period of 3 years at 6-month at
MCLR plus 200 bps. You are concerned about X Ltd.'s ability to repay the debt due to recent
market volatility. To protect your institution from potential default, you decide to purchase a
Credit Default Swap (CDS) from ABC Bank Ltd. for same notional amount at a premium
quoted at 1% per year through cash settlement.

On the respective reset dates for the same period actual MCLR interest rate comes out as
follows:

Reset MCLR
1 9.75%

2 10.00%

3 10.25%

4 10.35%

5

6

10.50%
10.60%

From the information given above, choose the correct answer to the following questions:

6. The primary purpose of a Credit Default Swap (CDS) is...................

a) toincrease the value of bonds.

b)  to protect against default risk of a debt obligation.
)

c to provide guaranteed profit to the buyer.

(
(
(
(d)  tocreate a new form of loan.
7. Which of the following statements is true about CDS contracts?
(@)  CDS contracts cannot be used for speculation.
(b)  CDS contracts are governed by government regulations.
(c)  CDS contracts are private agreements between two parties.
(d)  CDS contracts eliminate all risks for the buyer.

8. Which organization publishes the guidelines and rules for conducting Credit Default
Swap transactions?

(@)  Federal Reserve



(b) International Swap and Derivative Association (ISDA)
(c)  Securities and Exchange Commission (SEC)
(d)  World Trade Organization (WTQO)

Assuming no default occurs the total premium your company will pay during the
designated loan period shall be........

(@) ¥ 5crore

(b) %10 crore
(c) ¥ 15crore
(d) ¥ 30 crore (4 x 2 = 8 Marks)

Case Scenario lll

During one business meeting at XYZ Ltd., one of the member pointed out that while evaluating
the performance of any company one should not only see its Operating Income but should
also analyse its Capital structure as well. Weighted Average Cost of Capital changes on the
basis of capital structure keeping all other factors unchanged.

He presented data relating to 3 companies Alpha Ltd., Beta Ltd. and Gama Ltd. whose
operating Income are equal, but their capital structure is different.

The following information relating to these 3 companies is as follows:

(in % 000)

Alpha Ltd. Beta Ltd. Gama Ltd.
Total invested capital 20,00,000 20,00,000 20,00,000
Debt/Assets ratio 0.8 0.5 0.2
Shares outstanding 61,000 83,000 1,00,000
Pre tax Cost of Debt 16% 13% 15%
Cost of Equity 26% 22% 20%
Operating Income (EBIT) 5,00,000 5,00,000 5,00,000

The Tax rate is uniform 35% in all cases. The industry PE ratio is 11X.

From the information given above, choose the correct answer to the following questions:

10.  The weighted average cost of capital of Alpha Ltd. shall approximately be ..................

(a)  13.520%
(b)  15.225%



(c)  17.950%
(d)  18.000%

11. The Economic Valued Added (EVA) of Beta Ltd. is

(@) ¥ 54600 Thousand
(b) ¥ 20500 Thousand
(¢)  (-) ¥ 34000 Thousand
(d) ¥ 21500 Thousand

12. The price per share of Gama Ltd. shall be

(a) ¥ 28.60
(b) % 31.90
(c) 3146
(d) 2945

Case Scenario IV

A US parent company has subsidiaries in France, Germany, UK and Italy. The amounts due to
and from the affiliates is converted into a common currency viz. US dollar and entered in the

following matrix.

(3 x 2 =6 Marks)

Inter Subsidiary Payments Matrix (US $ Thousands)
Paying affiliate

France | Germany | UK Italy | Total

@ France 80 120 200 | 400
= Germany 120 80 | 160 | 360
= UK 160 | 120 140 | 420
§ Italy 200 60 120 380
& Total 480 260 320 | 500 | 1560

The treasurer of US Parent company is suggesting that by applying Multilateral Netting system
the company can save a lot of transfer/ exchange costs. The company’s Board agreed with

Treasurer’s proposal.

From the information given above, choose the correct answer to the following questions:




13.  Before applying Multilateral Netting it is necessary to apply...................
(@) Unilateral Netting
(b)  Bilateral Netting
(c)  Multilateral Netting
(d) Interest Rate Swapping

14.  Through Multinational Netting these transfers will be reduced to ...............ccccceeeee.

(a)  $50,000
(b)  $100,000
(c)  $150,000
(d)  $ 200,000
15.  The Net Payment/ Net Receipts for France after netting off shall be................
(@)  Net Receipt $ 40,000
(b)  Net Payment $ 80,000
(c)  NetPayment $ 40,000
(d)  Net Receipt $ 80,000 (3 x 2 = 6 Marks)

PART - || DESCRIPTIVE QUESTIONS

Question No.1 is compulsory. Candidates are required to answer any four
questions from the remaining five questions.

Working notes should form part of the answer.
Maximum Marks - 70 Marks

1. (@)  The Treasury desk of a global bank incorporated in UK wants to invest GBP 200
million on 1st January, 2019 for a period of 6 months and has the following
options:

(1) The Equity Trading desk in Japan wants to invest the entire GBP 200
million in high dividend yielding Japanese securities that would earn a
dividend income of JPY 1,182 million. The dividends are declared and
paid on 29t June. Post dividend, the securities are expected to quote at a
2% discount. The desk also plans to earn JPY 10 million on a stock



borrow lending activity because of this investment. The securities are to
be sold on June 29 with a T+1 settlement and the amount remitted back
to the Treasury in London.

(2)  The Fixed Income desk of US proposed to invest the amount in 6 month
G-Secs that provides a return of 5% p.a.

The exchange rates are as follows:

Currency Pair 1 Jan 2019 (Spot) 30 Jun 2019 (Forward)
GBP - JPY 148.0002 150.0000
GBP - USD 1.28000 1.30331

As a treasurer, advise the bank on the best investment option. What would be
your decision from a risk perspective? You may ignore taxation. (6 Marks)

Note: Show all calculations in Millions and round off them upto two decimal points.

MPD Ltd. issues a ¥ 50 Million Floating Rate Loan on July 1, 2018 with resetting
of coupon rate every 6 Months equal to LIBOR + 50 bps.

MPD is interested in an Interest rate Collar Strategy of selling a Floor and buying
acap.

MPD buys the 3 years cap and sell 3 years Floor as per the following details on
July 1, 2018:

Principal Amount | ¥ 50 Million

Strike Rate 5% for Floor & 8% for Cap

Reference Rate | 6 months LIBOR

Premium NIL, since premium paid for cap = premium received for
Floor

The Reset dates & Interest rates p.a., on that dates are:

Reset Date (31/12/2018| 30/06/2019 |31/12/2019 |30/06/2020 | 31/12/2020 | 30/06/2021
LIBOR (%) 7.00 8.00 6.00 4.75 4.25 5.25

Using the above data, you are required to determine:

()  Effective Interest paid out at each six reset dates, (Round off to the
nearest rupee)

(i) Average overall effective rate of interest p.a. (round off to 2 decimals).
(8 Marks)



SS Company is considering the replacement of its existing machine with a new
machine. The Purchase price of the New machine is ¥ 26 Lakhs and its
expected Life is 8 years. The company follows straight-line method of
depreciation on the original investment (scrap value is not considered for the
purpose of depreciation). The other expenses to be incurred for the New
Machine are as under:

(i) Installation Charges X 9,000
(i) Fees paid to the consultant for his advice to buy New Machine ¥ 6,000.

(i) Additional Working Capital required ¥ 17,000. (will be released after 8
years)

The written down value of the existing machine is ¥ 76,000, and its Cash
Salvage Value is T 12,500. The dismantling of this machine would cost ¥ 4,500.
The Annual Earnings (before tax but after depreciation) from the New Machine
would amount to ¥ 3,15,000. Income tax rate is 35%. The Company's required
Rate of Return is 13%.

You are required to advise on the viability of the proposal.
PVIF (13%, 8) = 0.376 PVIFA (13%, 8) = 4.80 (6 Marks)

STR Ltd.’s current financial year's income statement reported its net income
after tax as ¥ 50 Crore.

Following is the capital structure of STR Ltd. at the end of current financial year:

3
Debt (Coupon rate = 11%) 80 Crore
Equity (Share Capital + Reserves & Surplus) 250 Crore
Invested Capital 330 Crore

Following data is given to estimate cost of equity capital:

Asset Beta of TSR Ltd. 1.11
Risk —free Rate of Return 8.50%
Average market risk premium 9%

The applicable corporate income tax rate is 30%.
Estimate Economic Value Added (EVA) of RST Ltd. in ¥ lakh. (4 Marks)

Note: Round off all calculations upto two decimal points.

Briefly Explain the parameters to identity the currency risk. (4 Marks)



(a)

Mr. Y has invested in the three mutual funds (MF) as per the following details:

Particulars MF ‘X’ | MF‘Y’ MF ‘Z’
Amount of Investment (3) 2,00,000 | 4,00,000 2,00,000
Net Assets Value (NAV) at the time of 10.30 10.10 10
purchase (%)
Dividend Received up to 31.03.2018 (%) 6,000 0 5,000
NAV as on 31.03.2018 (%) 10.25 10 10.20
Effective Yield per annum as on 9.66 -11.66 2415
31.03.2018 (percent)

Assume 1 Year =365 days

Mr. Y has misplaced the documents of his investment. Help him in finding the
date of his original investment after ascertaining the following:

(i) Number of units in each scheme;

(i) Total NAV;
(i) Total Yield; and
(iv)  Number of days investment held. (6 Marks)
Following is the data regarding six securities:

U % W X Y z
Return (%) 10 | 10 | 15 5 " 10
Risk (%) (Standard deviation) | 5 6 13 5 6 7

(i) Recommend at least three securities which shall be selected among the
six securities mentioned above.

(i)~ Assuming perfect correlation, evaluate whether it is preferable to invest
80% in security U and 20% in security W or to invest 100% in Y.

Either

What are the risk associated with the use of blockchain technology?

(4 Marks)

(4 Marks)

What are the various indicators are used to find out how the economy shall

perform in the future?

(4 Marks)



(b)

Columbus Surgicals Inc. is based in US, has recently imported surgical raw
materials from the UK and has been invoiced for £ 480,000, payable in
3 months. It has also exported surgical goods to India and France.

The Indian customer has been invoiced for £ 138,000, payable in 3 months, and
the French customer has been invoiced for € 590,000, payable in 4 months.

Current spot and forward rates are as follows:

£/US$
Spot: 0.9830 - 0.9850
Three months forward: 0.9520 - 0.9545

US$ /€
Spot: 1.8890 - 1.8920
Four months forward: 1.9510 — 1.9540
Current money market rates are as follows:
UK: 10.0% - 12.0% p.a.
France: 14.0% - 16.0% p.a.
USA: 11.5% - 13.0% p.a.

You as Treasury Manager are required to show how the company can hedge its
foreign exchange exposure using Forward markets and Money markets hedge
and suggest which the best hedging technique is. (6 Marks)

A hypothetical company ABC Ltd. issued a 10% Debenture (Face Value of
T 1000) of the duration of 10 years is currently trading at ¥ 850 per debenture.
The bond is convertible into 50 equity shares being currently quoted at ¥ 17 per
share.

If yield on equivalent comparable bond is 11.80%, then determine the spread of
yield of the above bond from this comparable bond.

The relevant present value table is as follows.

Present t1 t2 t3 ta ts ts t7 ts to| to
Values

PVIFo11,¢| 0.901| 0.812| 0.731| 0.659| 0.593| 0.535| 0.482| 0.434| 0.391]0.352
PVIFo13t+ | 0.885| 0.783| 0.693| 0.613| 0.543| 0.480| 0.425| 0.376| 0.333/0.295
(4 Marks)
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(c)

Discuss any four innovative sources of financing available for startups apart

from traditional bank loans.

(4 Marks)

X Ltd. is studying the possible acquisition of Y Ltd. by way of merger. The
following data are available in respect of both the companies.

Particulars X Ltd. Y Ltd.
Market Capitalization (%) 75,00,000 90,00,000
Gross Profit Ratio 20% 20%
Inventory Turnover Ratio 5 times 4 times
Debtor Turnover Ratio 3 times 5 times
12% Debenture (%) 10,00,000
10% Debenture (%) 14,40,000
No. of Equity Shares 1,00,000 60,000
Operating Expenses 86% 78%
Corporate Tax Rate 30% 30%
Closing Stock (%) 15,00,000 5,00,0000
Debtors (%) 10,00,000 8,00,000

You are required to calculate:

(i) Swap ratio based on EPS & MPS respectively as weightage of 40% and

60%.
(i)  Post Merger EPS

(iii)  Post Merger market price assuming same PE Ratio of X Ltd.

(iv)  Post Merger gain or loss in EPS (8 Marks)
Mr. X owns a portfolio with the following characteristics:
Security A Security B | Risk Free security
Factor 1 sensitivity 0.80 1.50 0
Factor 2 sensitivity 0.60 1.20 0
Expected Return 15% 20% 10%

It is assumed that security returns are generated by a two factor model.

(i) If Mr. X has ¥ 1,00,000 to invest and sells short ¥ 50,000 of security B
and purchases ¥ 1,50,000 of security A what is the sensitivity of Mr. X’s

portfolio to the two factors?
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(ii)

If Mr. X borrows ¥ 1,00,000 at the risk free rate and invests the amount
he borrows along with the original amount of ¥ 1,00,000 in security A and
B in the same proportion as described in part (i), what is the sensitivity of
the portfolio to the two factors?

What is the expected return premium of factor 2? (6 Marks)

The following data are available for three bonds A, B and C. These bonds are
used by a bond portfolio manager to fund an outflow scheduled in 6 years.
Current yield is 9%. All bonds have face value of 100 each and will be
redeemed at par. Interest is payable annually.

Bond Maturity (Years) Coupon rate
10 10%
8 11%
5 9%

(ii)

(iv)

Calculate the duration of each bond.

The bond portfolio manager has been asked to keep 45% of the portfolio
money in Bond A. Calculate the percentage amount to be invested in
bonds B and C that need to be purchased to immunise the portfolio.

After the portfolio has been formulated, an interest rate change occurs,
increasing the yield to 11%. The new duration of these bonds are: Bond A
=17.15 Years, Bond B = 6.03 Years and Bond C = 4.27 years.

s the portfolio still immunized? Why or why not?

Determine the new percentage of B and C bonds that are needed to
immunize the portfolio. Bond A remaining at 45% of the portfolio.

Present values be used as follows :

Present Values ts to t3 t4 ts
PVIFo.09t 0.917 0.842 0.772 0.708 0.650
Present Values ts t7 ts To tho
PVIFo.09t 0.596 0.547 0.502 0.460 0.4224

(8 Marks)
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An Indian company obtains the following quotes (3/$)

Spot: 85.90/86.10
3 - Months forward rate: 86.00/86.25
6 - Months forward rate: 86.10/86.40

The company needs $ funds for six months. Determine whether the company
should borrow in $ or ¥

Interest rates are :
3 - Months interest rate : T:12%, $:6%
6 - Months interest rate : T:11.50%, $:5.5%

Also determine what should be the rate of interest after 3-months to make the
company indifferent between 3-months borrowing and 6-months borrowing in the
case of;

(i) Rupee borrowing
(i) Dollar borrowing

Note: For the purpose of calculation you can take the units of dollar and rupee
as 100 each. (6 Marks)
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